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Geometry Review Sheet #6
Date Due: January 31, 2012

In the diagram below: RL L LP, LR L RT ,
~ezid M is the midpoint of 7P. Which statement
could be used to prove ATMR = APML?

L P

.

T R

(1) SAS = SAS

@J:XAS = AAS

(38) HL = HL

(4) SSS = SSS

2. Two parallel lines cut by a transversal can
create all the following types of angles except

(1) Alternate interior angles
(2) Alternate exterior angles
-’ (3) Correspondlng angles

QL] Oomplementary angles

3. In the diagram below, AABC = AXYZ.

B X
i ‘e ; >Y
A Z
Which two statements identify corresponding
congruent parts for these triangles?

(1) AB= XYand £C= .Y
(2) AB= YZand +C = /X
(8) BC= XYand A=Y
[4]\%5 ¥Zand ¢A = ¢X

Name

Ké,\ll

4. The complement of every acute angle must be

@a_n acute angle

(2) aright angle
(3) an obtuse angle

(4) a straight angle

5. In the the accompanying dlagram CA 1 AB,
ED 1 DF, ED| AB, CE=BF , and, AB=ED .

Which statement would not be used to prove
AABC = ADEF?

(1) SAS = SAS (3) HL = HL

(2) AAS = AAS @) SSS = SSS

6. In triangle ABC, if altitude AD is drawn to side
BC, which of the following must be true?

@ «ADB= 4ADC  (3) aADB=aADC

(2) B =7 (4) A8 =X’

7. In AABC, an exterior angle at A measures 40°,
Which is the longest side of the triangle?

(1) AB

(2) AC
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Scrap Graph Paper — This sheet will not be scored.
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